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class Adder {
public int add(int a, int b) { return a+b;}
public double add(double a, double b) { return a+b;}
}
class Computer extends Adder {
private int X;
public int calc(int a, int b, int ¢) { if (a == 1) return add(b, ¢);
else return x;}

Computer() { x = 0;}

public class Adder_Main {
public static void main(String args[]) {
Computer ¢ = new Computer();
System.out.println(”100 + 200 = ” + c.calc(1, 100, 200));
System.out.println("5.7 + 9.8 = ” + c.add(5.7, 9.8));
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A B g D E
1 Al e Mg | mojEY | He
) | zHa 78 8,000,000
3 == ab 7,500,000
4 o= a3 13,000,000
5 | Lgd 34 10,000,000
B | A a0 8,000,000
7 A 341 46,500,000
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4 5 + 2 3 * -

D452 36 -1, 3 @4,59 2 36, -3
®4,59 2 18 3, 16 @4,592 36,3
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17. C =299 Ag Axz && 789

#define VALUE1 1
#define VALUE2 2

main()
{
float 1;
int j,k,m;
i = 100/300;

j = VALUEl & VALUEZ;
k = VALUE1L | VALUEZ;

if &&KkIIDm-=1+7;
elsem =j + k;
printf("i = %.1f j = %d k = %d m = 203d\n”, ij,km);

@i=00j=0k=3m =003
@1=03j=0k=3m =000
®1=00j=1k=1m=001
@i=03j=1k=1m=001
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@D F 10Mbps @ F 20Mbps
@ F 30Mbps @ °F 60Mbps
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